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1 2 3 4 5 6 7 8 9 10 11
1 SwlwjlpwwybinwpwGh 746 1800 56459.2 |wy ogunwgnpdnnatp thnthnfunipinth syw 100 UndhGhutnpwiinhy
2tGp Cwhnudjub 1
2 8hy 1 dwbywwwpwnbq 670 2 300 16578.9 pwywpwn oquwwgnpénnlbp thnthnfunipynil siw 100 Unghwwywa plnyph
Uhynjwb 7
3 Bhy 2 dwilywwwpunbq 720 4 500 1051 pwywpwnp ogunwgnpdénnibp Jbpwbnpngynui £ - Unghwwwb pomyph
Undhunhwuh 13
4 fBhy 5 dwblywwwpnuntq 670 3200 19650 pwywinwn oguwgnpdnnltn JdEpwinpngynul £ - Unghw|wlwl pUnyph
Ywnnwi 2npudwp 35
5 Uuy 240 330 7817,3 lwy oguwignpénnbbn thnthnfunigynil syw 100 Unghwwlwb phnyph
Cwhnujjwl 14
6 Uwpqunwnpng 648 1 500 304314 |wt} ogunwgnpdnnltn thnthnfumpynts slw 100 Unghwijwlwl plnyph
Huyph 4
7 Udphpwnpnls 900 2 000 2300.0 pwywpwp oguwgnnénnbbp thnihnfuniginil slw 100 Unghw|wlw panyph
Lwptlywgh 1
8 Qbpbqdwlng 50 000 - pwywnuwn oguwgnponnltn thnthnfuneeymb syw 100 Unghwjwlwb plnyph
Unublywh th.
9 Uwpgquinwwn 169,6 20 600 22472,1 pwywnwp oguwgnpénnlkn thnthnfunipyntl syw 100 Unghwjwlwl panyph
Luwipwbnyul 2
10 Unihyh wiygwl gpnuwigh 25 000 6500,0 pwywnpuwn ogqnwgnpdnnltip thnthnfunigynl 4w 100 Unghwjwywb panyph
buintlwgh th.




1" Uhynmuwih wiagwd 7 500 3700,0 pwywpwn oguwgnpénnbtn thnthntuntpyndl sjw 100 Unghwijwywl plnyph
qpenuwjgh Uhynjwl th.
12 eohpsjwbh woywb 14 000 4600,0 qJuwin sh oquwgnpéynid thnthnfunipinil slw 100 Unghwjwiywl panyph
qpenuwjgh Upynjwa th.
13 <ntawhwidwihp wigh 21000 3465.0 pwywipwp oguwgnpénnlbp thnthnfunieynil syw 100 Unghwjwywl plnyph
Cwhnudjwl .
14 Ywptiwhnn 1 Yupg 315 17 000 1946.5 pwiwpwp Jwpawywybbp thnthnfunipinth syw 100 Unghwwywl pGnyph
«Utwy» hwbnwiwu
15 Ywpbjwhnn IV Jupg 343 19 000 1320.5 pwywnwn Jupéwywbbn thnthnfunipynil sw 100 Unghwiwlwl panyph
«®npdwnuiuny
hwbnwdiwu
16 Ywntjwhnn V Ywupg 360 35 000 24327 pwywpuwn JwpdwluwGtp thnthnjunipnil slw 100 Unghwwlwb penyph
«qwthwn» hwinwdiwu
17 Ywpbiwhnn V Yupg 383 21000 593.3 pwdwpun sh oguwgnpdynd thnthnfunipnil syw 0 -
«Lwpnih pwilins
hwGnwdwu
18 Hwpbjwhnn 1V Yupg 381 112 000 7784.0 pwwnwn Jwpdwywbtp thnthnfunipnilb sjw 90 Unghwjwlwb panyph
«Unwuwdh» hwinwdwu 383
19 Ywnbjwhnn V Yupg 303 15 000 4238 pwwpwp sh oqunwgnpdynid thnthnfunigyntl shw 0 -
«Bwph nwy» hwinwdwu
20 UbGoguwgnpétith hnn 343 55 000 - - Jwpdwyuybbp thnthnfunipjml syw 80 Unghwjwlw panyph
«dnpéwnwnny
21 NuwhnwunwihG $nln 89 000 25143 pwywpwn Jupdwywitp thnthnfunipynto syw 70 Unghwiwlw@ pGnyph
22 Runuwpwhl gmqupwl 55.6 72 9366.5 pwywpwn ogunwgnpdnnltn thnthnfunipinil sjw 100 Unghwjwbjwa pnyph
23 Lonwjwquis 486 1190 10530.3 iy oquwgnnénnltn thnthnfuntpynil syw 100 Unghwijwlw panyph
24 Cwpdwlwu tEynpuwluwu 2398224 iy oguwagnpsnnutp thnthnfunig)nil sYw 100 -
guitlwwjwn 2 hwwn
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